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1 JE KHKF e B 1890 420 270 600 600
2 HEARTC IR JE— 1200 600 600
3 T-MACH %ER T 1140 150 150 420 420
4 N4 =TS 780 150 270 270 90
4 Fvbh AV ATE R e 780 150 270 270 90
6 7L ARTC o E4L 732 600 42 90
7 Fvh AV Wm KIE 690 420 270
7 HEARTC TS 690 420 270
7 7L ARNTC um AR 690 600 90
10 T-MACH HZE %K 600 600
10 T-MACH B 600 600
12 T-MACH % e R 570 150 420
13 HEARTC e R Hﬂi% 552 270 150 90 42
14 EINE Y% Pk S 540 90 90 90 270
14 Fvbh AV ZI BER 540 90 90 90 270
16 B EER B H AR 510 90 420
17 B HEER B IEE 492 150 150 150 42
18 HEARTC L BE 450 270 90 90
19 HEARTC VD 420 270 150
19 5. FiE FRH P& 420 420
21 T.0.P & H HE 384 150 42 42 150
22 7)Y K Fo+ 372 90 150 90 42
23 HEARTC B P 360 270 90
23 HEARTC AR FES 360 90 270
23 HEARTC H 0 #HE 360 90 270
26 FZEOETC B E— 324 42 42 150 90
26 Vo1 — AIEEES 324 42 42 150 90
28 Fvh AV 1§E7l< 1A 320 90 200 30
28 N4 HAK BT 320 90 200 30
30 T.0O.P T A it Hil 312 90 90 42 90
30 B EER W IE 312 90 90 42 90
30 Frl)— =5 B 312 42 90 90 90
30 F— AR %% 312 42 90 90 90
34 JE KHKF h)l B= 282 90 42 150
35 HEARTC JKEF BB 270 270
36 JEARHKE EifE ALEIL 240 90 150
36 B LimEAR B JE3E 240 90 150
38 NTT R&D KIE FI5F 234 150 42 42
38 B T@ER i ZEHh 234 42 42 150
38 Fxl Y HEE HE 234 42 42 150
41 B mER I Br=2 222 90 42 90
41 F ¢ ATC Fik BHET 222 90 90 42
43 HEARTC 1L PR72 200 200
43 HEARTC Lo HET 200 200
45 7)Y il BT 192 150 42
45 Fvh AV IER 192 150 42
45 Fvh AV HEE 192 150 42
45 FEARTC gk T 192 42 150
49 7Y BE =G 182 42 140
49 7)Y BE B 182 42 140
51 HEARTC A S 180 90 90
51 HEARTC 5 %% BT 180 90 90
51 JE AKHKF AN E Y53 180 90 90
51 JE KHKF | & 180 90 90
55 RET ENIR 3O 176 90 14 42 30
56 FEARTC M im 75 174 42 90 42
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56 Fxl Y 2NN 174 42 42 90
56 Fxl T s BEE 174 42 42 90
59 = —JE K A FEIT 170 140 30
59 V=—JEK A ER 170 140 30
61 Z1L ARNTC iy 5.5 156 42 42 42 30
61 F ¥ ATC M EIT T 156 42 42 42 30
63 HEARTC N 150 150
63 HLTC st A 150 150
63 HLTC e S 150 150
63 HEARTC HE HET 150 150
63 HEARTC 5 Fo— 150 150
63 FylL D MRER E 150 150
63 HEARTC EitE B 150 150
70 HEARTC A HESE 132 42 90
70 HET A EAL 132 42 90
70 7L ARNTC AR 5B 132 90 42
70 Fl)— 3 E B 132 90 42
70 F =l — HH 34T 132 90 42
70 HFEARTC +H R 132 90 42
70 Fl— 2 ks 132 90 42
70 T.0.P /INVBR BT 132 90 42
70 HFEARTC ANSEEUN 132 90 42
70 T-MACH EER 132 42 90
70 T-MACH HR #E 132 42 90
81 V=—ER AKE == 126 42 42 42
81 AVALTC B PR i =] 126 42 42 42
81 JE KHKF A AR 126 42 42 42
81 7L ARNTC P Z s 126 42 42 42
81 7L ARTC A 126 42 42 42
86 HEARTC bR B 120 90 30
87 Tvbh AV AijFH RI 106 42 14 20
87 N4 =l IE T 106 42 14 50
89 JEAREEETC =hE P 102 42 30 30
89 JEREFRETC FH ZSEEE 102 42 30 30
91 FET R A&T 98 42 14 42
91 Fxl Y AL #H— 98 42 42 14
91 Fxl Y I H B 98 42 42 14
91 F L ATC RUE 52 3C 98 42 42 14
91 F L ATC KIE JE 1 98 42 42 14
96 Frl)— EE %] 92 42 50
96 Fl— S T 92 42 50
96 7L ARNTC Kot R 92 50 42
96 7L ARNTC oo ket SE 92 50 42
100 F ) — TR B 90 90
100 HPET Fik 1 90 90
100 B m/ER N e 90 90
100 T-MACH H 5 A 90 90
100 FROBETC )l E 90 90
100 HOETC )] FHE 90 90
106 HFETY SIESE M 86 42 14 30
106 HPETY N 86 42 14 30
108 EREETC A& EE 84 42 42
108 JEREFETC ot HED 84 42 42
108 Fxl Y 3 1= H] 84 42 42
108 Fxl Y N FEA 84 42 42
108 Y ——JE K FH AAR 84 42 42
108 V= —JE K HE Beikib 84 42 42
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108 V=—ER AH 2 84 42 42
108 Fxl Y WA K— 84 14 42 28
108 Fyl D HH AHE 84 14 42 28
117 JE KHKF =6 e 82 40 42

117 FTC #FDHE B BH1 82 40 42

119 ZHOETC £ K 60 30 30
119 5. FE JIE & 60 30 30
121 FAA g0k =k B2 58 42 10 6
121 FA A vk alE &1 58 42 10 6
123 HFETY HE B 56 42 14

123 HPET HE T 56 42 14

123 T-MACH H#& fit 56 14 42

123 T-MACH H#& Hst 56 14 42

127 7)Y FoH fE5L 54 14 40

127 HEDOHETC KA AL 54 14 40

129 Fxl)— TH E=— 53 50 3
129 HPET G Bt 53 40 3 10
129 HFETY A A 53 40 3 10
132 F ) — RE ORKE 50 50

132 5, FE R FEE 50 50

132 E=H, FE R AT 50 50

132 Fxl T By &= 50 50
132 HPET &= H EsL 50 50
132 HPET mH &Y 50 50
132 T-MACH By Ho0 50 50
132 = mEAR FRRJEL R 50 50
132 B dER 1R I8 50 50
141 HEDOHETC RS 48 30 18
141 HEDOHETC &Jl th1 48 30 18
143 HZOETC Wi fnlk 44 30 14
143 HZHOETC wAE EINT 44 30 14
143 HPET Y Ban B 44 30 14
143 HPET Y Bt ﬁfﬂ% 44 30 14
147 HPET Al B 42 42

147 HPET el :Fﬂﬂé 42 42

147 HPET Y DEES 42 42

147 HPET BRI BRE 42 42

147 JE KHKF KIE A 42 42

147 7L ARTC IKAR %m 42 42

147 FEARTC B H tEF] 42 42

147 FZFOEBETC A — = 42 14 28

147 HOETC R F1 A 42 14 28

147 T-MACH KK 42 42
147 T-MACH R 7Y 42 42
147 HEARTC HENES 42 42
159 £8), FE DAL 40 40
159 8, FiE FAH FoligE 40 40
161 Fyl D W BER 37 28 3 6
161 F ¥ ATC w A PR 37 28 3 6
163 FxLY & Rt 34 14 6 14
163 Fyl oY eSS 34 14 6 14
163 H S JER HE == 34 18 6 10
163 HIEAR H BT 34 18 6 10
167 B dER TEgR BN 32 14 18

167 = HEER SRR 32 14 18

169 HLTC EFH E— 30 30

169 HLTC EFH BEAE 30 30
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169 NTT R&D A g 30 30

169 HOETC B M 30 30

169 JE R RS 5LPH 30 30

169 EART&FT IINE KA 30 30

175 JE KHKF R 1T 28 28

175 JE KHKF SEAN b T 28 28

175 Ty b AV H = E 28 14 14

175 Ty b AV L 28 14 14

175 HZOETC JE R H‘E% 28 14 14

180 NTT R&D B FEE 25 6 3 10 6

180 NTT R&D B BT 25 6 3 10 6

182 Fxl Y Bk = 24 6 18

182 7)Y Jr ] {8 24 10 14

182 7)Y eSS 24 10 14

182 FTC #HROH TR 5 24 14 10

182 FTC #HRODOH R A 24 14 10

182 Fxl Y o E 24 6 18

182 Fyl D AT S5 24 6 18

189 NTT R&D TN 1ERE 20 10 10

189 NTT R&D TN N+ 20 10 10

191 Fyl Y NN 18 18

191 Fyl D L (EE 18 18

191 HPET N 18 18

191 5. FiE Y E A 18 18

191 £8), £ L 7 18 18

191 £8), £ —4F BT 18 18

191 Fxl Y FJI FE— 18 6 6 6

191 Fxl T L AT 18 6 6 6

191 L TC N B&E 18 18

191 7)Y JI| E 18 6 3 6 3

201 Fxl)— &2 rR 17 14 3

201 F ) — HE&ET 17 14 3

203 UEY JI1E JpRER 16 10 6

203 Fyl D RPN 16 6 10

203 Fyl D R /// E. 16 6 10

206 EINAEES Bm & 15 6 6 3

206 HSLER B H ’%‘”% 15 6 6 3

208 HEET Y &5 B 14 14

208 Fvbh AV A B 14 14

208 Fvh A A A 14 14

208 HEARTC = 14 14

208 HIEARTC ‘B BT 14 14

208 F L ATC RUE FOAs 14 14

208 F ¥ ATC EH &1 14 14

208 BERTC EFENE 14 14

208 Frl— R BT 14 14

208 F ) — EER K 14 14

208 = —JE R S 14 14

208 V= —JE R i SEES 14 14

208 F L ATC & HA 14 14

208 F L ATC i ObH 14 14

208 Frl)— — B a1 14 14

208 F ) — B 5 14 14

208 T.0O.P RE ¥ 14 14

208 FylL D I CER 14 14

208 HEARTC IS 14 14

208 HEARTC Tk E8H+ 14 14
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208 HLTC WE EE 14 14

208 HLTC T8 =6 14 14

208 Fxl LT ER R 14 14

208 Fxl Y HiH &1 14 14

232 Fxl Y NS E— 13 10 3

232 Fxl Y R R 13 10 3

232 A4 —TC NH BFE 13 10 3

232 E£H. FE NH T 13 10 3

232 Fvbh, AV FIAT 8t 13 10 3

232 5, FiE KT AE 13 10 3

238 AR —TC A P& 12 6 6

238 7)Y R 1% 12 3 6 3

238 F ) — (L )1] 38 B 12 6 6

238 Fxl— LI DA 12 6 6

242 U B JIMA TR 10 10

242 HOETC MRS 10 10

242 ZHOETC MRS 10 10

242 HIEARTC —H = 10 10

242 HEARTC ZHH AP 10 10

242 ERETC EHH EE 10 10

242 ERTC TIE FE1 10 10

249 HPET N 9 6 3

249 HFETY N EE 9 6 3

249 Fxl Y Ak —= 9 6 3

249 Fxl Y H A FniL 9 6 3

249 N4 = A PR 9 6 3

249 770 —FTC |EEE 5 9 6 3

249 F ATC (LN FH 9 6 3

249 F L ATC ek L 9 6 3

249 JE AKHKF /INE fEEE 9 3 6

249 JE AHKF NE BE 9 3 6

259 7)Y HAS Hth 6 6

259 HEATC /NEFH B — 6 6

259 HIEARTC /NP A 6 6

259 EREETC /N B 6 6

259 EREETC N 6 6

259 JE KHKFE K BE 6 6

259 JEARAHKFE KB BE 6 6

259 A4 —TC A H LT 6 6

259 Fxl Y ik 2 6 6

259 A4 —TC R EE 6 6

259 U EY LB HH] 6 6

259 8, F£E B BT 6 3 3

259 FTC #HOHE TNk B 6 3 3

259 £, fEE INE —FE 6 3 3

259 £8), F£E INE 6 3 3

259 A8 —TC 1B B 6 3 3

259 AH—TC 15K DY+ 6 3 3

259 NTT R&D e 6 6

259 T.0O.P e AET 6 6

259 HOETC EERE 6 6

259 HZHOETC EH E3 6 6

259 8, F£E =5 EA 6 6

259 8, F£1E FAAS T 6 6

282 FylL D SR Bk 3 3

282 = —E K A B2 3 3

282 =N A BRIK T 3 3
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282 HPET EREIEIN 3 3
282 HFETY BT SER 3 3
282 5. FiE (AR —5F 3 3
282 5. FiE (LA Bl 3 3
282 5. FiE b1 M= 3 3
282 5. FiE 1011 #E%n+ 3 3
282 E£H. FiE INEE & 3 3
282 E£H, FiE gk B+ 3 3
282 =5, FiE EE B 3 3
282 B EEAR R FETG 3 3
282 B EER JERJE 1 3 3
282 Frl)— Fig L 3 3
282 5. FiE 2 KER 3 3
282 5. FiE ARES %= 3 3
282 |7 7m—FTC |PrN #EH 3 3
282 |7r7u—FTC |k =% 3 3
282 FylL D =i BE 3 3
282 Fyl D A H R3E 3 3




